R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, FL-16092.1

™

OR|
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8400 Series

Vinyl Horizontal Sliding Window

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debiris protection this
product is required to be protected with an impact resistant covering
that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

Bill of materials & glazing details

O~ N —

= 74" MAX O.A. FRAME WIDTH

B813.659.9197

Florida Board of Professional Engineers

P.0. Box 230 Valrico FL. 33595
Certificate Of Authorizgtion No. 9813

BUILDING CONSULTANTS, INC.

Phone No.:

P 2243
Lyndon F. Schmidt, P.E. No. 43409

Documents Prepared By:

8400 SERIES
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR _ASSEMBLY:

PRODUCT:

FS
BY

OX. XO ALSO APPROVED

74.0" X 62.0" 32.43" X 54.0" Gl

+50.0

32.43" MAX.
D.L.O. WIDTH
I/ //
/// ///
/ (1 /
T
O K
T O
S
= S
< O X X
o Z
X =
= 3
3
4 { /
V4 V4
/ /
XX SHOWN

-50.0

REVISIONS

4/04/13 |[UPDATE FRAME SIZE/DP/GLZ

1

74.0" X 63.0" 32.43" X 55.0" G2

+60.0

-65.0

o
<
fa]
o
2
2

DATE: 12/05/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.1

SsHEET _1 _oF 6

© 2012 R.W. BUILDING CONSULTANTS INC.



TONI SLNVAINENOD aNIaing "m'd ZL0DZ

. e [ . sA

mo+m¢ ON '3'd "PIWYDS 4 uopui SNOILD3S SSOND = SNOISIATH T emtey _
€224 ASLT TWINOZIHOH N slelo| w9
c186 ‘on uonfieuwny 10 9109une0 547 Z19/dG/3ZIS IAvE3 3IVGIN| €1/%0/% | 1 || U5 | St -
sa@ouibuy jouoisSsejold jO DIDGE DPLOLH ‘AIBW3ASSY 80 1avd % m . w o
LBLB'BSOTLE "ON suoyd W_/ o g~ 2“

S6STE T4 O9MIPA 052 xe8 O'd \SV@J - &15lg 4
DN 'SINVLIINSNGD oNigTing SIS 008 gi dlelglz B
A pesndeld sjuswnoag 11.0N3aoyd S5 w Z15 m &

1-1/4" MIN.

/i

=
O
[
10 )
[T¥]
Y
>
[ | I/ mm
= 5|2
) w 3
=0
Z|0
| 2 z QS
o~ o Sl3
| -
L :C._ x5
a o ey
)
\ 9
Sry
maf
— 0
o mx
= [ 05 o nNuH
s (0 =2
= 2|3
Qlo
— q‘, v.. .W s v... » o

\

:
RESERSRER

-\ p—

o

S -

3 =31 |} &

& oy e
S

R
r_.vu.u.?vwm%u..
8

)
&
(=)
©

i

/"2 "\ HORIZONTAL CROSS SECTION

INTERIOR
EXTERIOR

/i
[/

!

<
X
]
>
2
—
16

1-1/4" MIN.
EMB. (TYP.)

~ o e e
? —
e
I e
L <
v om0
. g

71"\ HORIZONTAL CROSS SECTION

W Shown w/ 2% buck

17 BMP'9-T'Z6091-14\apiS [BIUOZUOH\GZ9T 4d\OOLT - T09T fosd\siapiod pafoigisipafolrd - iy



"IN SLNYLIMENDD ONIGTING “M'H Z10Z §

EOPST ON "T'd IPILYDS 4 UopLAY SNOISIATY
SNOILDIS SS04D F -
Lr22 o —i4. 7 TYOLLHIA A8 PG O N sl o] = s_
CLEE ON UBMOZUOWINY JO B10oUIIeD s41 Z19/dG/3ZIS INVE4 3Lvadan| £1/v0/v | N0 | X Ll &,
ss83uiBUY |DUCISSEI0Id JO PIDOg PPHGI] SATHW3SSY o0 Ldvd % M . m o
LBLEBSCLE ON BuUOUy ~ g - 3;
SESEE "4 e%UIPA OfZ xeod .o.a\h\ﬁ@ = &g l__
*ONI 'SINYLINSNOD ONIIING S3IMIS 008 @ Jle|w|ET | B
:Ag pedodaly S1USWINDOQ 13N00¥d 2|82 515 %
{dAL) "aW3
{~dAL) "gw3 NIW.7f1-1
NIW P/ 1T @
DEEEO@®® 2
0 o 0
e ‘ o = = =
A V \ | £ O £ o
LI m m
RIS i ’ f ﬁ E 5
L ﬂ 4 ..\Ak < Qg
N ~ Qo Q|E
TP W T o) =2 ozl O
-l 3]
] el
£ E _ NE 3Is
= L S
T |0 B |
— >5 >5
S @W S mW
e o
i i
3 |

Stop for optional
fixed window

{"dAL) "aw3
NIW /-1

("dAl) 'aw3
NIW LF/ -1

w )~ TN (=Z)y (o) (=

D}

F
12
17
6
22
14
QC
INTERIOR

&
-
4
T ——
1
L4
It
L
.——-—’_‘-—
]

5 =0 ]

i
]
L ]
71"\ VERTICAL CROSS SECTION

\y Shown w/ 2X buck

EXTERIOR

T'E ‘BmMp'o-T'Z609T-T4\VSPIS FBIVOZUOM\GLIT 4d\00LT - TOOT foid\stapioy pafoid\siasiod - Yy



RAMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 4.1

t——

(TYP.}

s
iy

o2
2X
BUCK
MASONRY
OPENING l
. ‘." v‘ .
& 'l*'. i
CONCRETE ANCHOR NOTES:

BUCK ANCHORING

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted fo maintain
the min. edge distance to mortar joinfs. If concrete ancher locations

noted as "MAX, ON CENTER" must be adjusted fo maintain the min. edge
distance to mortar joinis, additional concrete anchors may be required fo
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw 1/4° 1-1/4"

2-1/2"

ELCO 1/4" 1-1/4"

III

4..
(TYP.)

20" MAX
0.C. [TYP)

FRAME

2X BUCK

5.5

/ (TYP) (IYP.]‘—‘ —
_ oY #
I l TJ]
| (F)2xsuck s
I 1% BUCK
| —
DIRECT TO Qa
L] MASONRY 9
| i (TYP. @ 5
| | HEAD) 2
|} a
1 2XBUCK _ o
DIRECTTO
MASONRY | | 1XBUCK
(TYP. @ | DIRECT 1O
JAMB) | | MASONRY
| ] -
I !II
rd
* (Y. [ 7.57 {TYP.)
FRAME ANCHORING

813.659.9197

Florida Boword of Professional Engineers
thorization No. 9813

Certificate Of
Z?%—— ‘/2 207
Lyndon F. Schmidt, P.E. No. 43403

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Phone No.:

Documents Prepared By:

(&)
=
75} (o5
L) ad
i =T
Le) $ < O
o X =<
o = <
o o Sw
=+ n o=
o0 Q <
o
. [
5 [
= o
[
ol |%
. 0.
L=
~im
N
o
R
~ |0
i =
NS
[75) ity
Wl |2
:|
iy
i
i
g
3
L]
SR
NE
<
il
=z
DATE: 12/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK, BY: LFS
DRAWING NO.:
FL—-16092.1

SHEET _4 ofF 6

© 2012 R.W. BULDING CONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 167%\Horizontal Slider\FL-16092.1-6.dwg, 5.1

n —— 0.07"
LYY,

e 7.42" —o]

( : ) SLIDER PULL STILE

I-*——‘— 1.9

( : ) LOCK STILE

47" —w=]

E+

-]

KEEPER STILE

‘— i.24"
- o
<
L]

(G4Rcusy S

19”

~ |

. REINFORCEMENT
Common Rail

=|

0.07"

I—-— 0.45"
0.08"

( : ) GLAZING BEAD

b

o~

s

N

b

N

bl

o
<: :) REINFORCEMENT
Lock Stie

179 — ]

[ 1,42" -2t

:

@ SLIDER COMMON RAIL

'—* 1.03"

. REINFORCEMENT
Keeper and Pull $tile

2,46

392

L T HI

pesiam)

224

s 20

( : )FRAME

1.25"

*‘ ’* 0.34"
1

0.08"

—-—jz-— 0.24"

7

L— 1.35 -‘l

—= f— 0.07"

SILL TRACK
Full width

0.61"

0.07"

L

@ SLIDER SASH RETAINING CLIP

n
7ol i m
== i i
\ 11 U
S | S /
ST T
T Eo
(AN
; =L I [ ST

AF5? {Masonry Flange 1)

V472 (Masonry Fange 2)

OPTIONAL COSMETIC FLANGES

C v f( v) —*
59, =
- [et— ) 3" —
rc/ o *

L-—w-———-o.r'

HEAD TRACK
&' Long

0.08"

i 0.09" —-—] ]-——

/.

—w] 037

- (.0%"

0.67"

. FLANKER STOP

ot 1,27 —=]

T S @
a £ 08
L] ﬂ)'_ .")
(SIS Ewhq,
Z_'\ g‘mN
-ﬁmu.\I\d
yh- "4 ba
28a 2% 4
T 2 i
H38 2o\l 2
O N
2o €nTVv g

..onmE'ﬁ é

EASIE I ETI (N 3 &

@ ¢, 5y 9

'0%3204\‘““

Eamﬂ)-uu— ™

g 9§ g o

a = goo c

Paciay 3§

o o o

o g &

- E:’.: )

C [

o Q&

£ o

]

%]

o

o
W o)
L =
o L
g o =
» o

m o
() = =
o ] S
= )
28] ] o
<

= r

[

8 Q

2 &

o o

0
>_

i [1

N

3

g

~

tu =

N o

Rz

= @

=

vy

=

]

a

3

3
Lt

S

LS

ﬂ.

- |
=

oate: 12/05/12

scAlE:  N.T.S.

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
FL—16092.1

SHEET 5 oF B

© 20712 R.W. BUILDING CONBULTANTS ING,



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 6.1

BILL OF MATERIALS
TEM # DESCRIPTION MATERIAL

A | IXBUCKSG >=0.42 WOOD
B | 2XBUCKSG >= 0.42 WOOD
C | 1/4"MAX. SHIM SPACE -

D | 1/4"X 2-3/4"PFH ELCO OR TW CONCRETE SCREW STEEL
£ | MASONRY 3,192 PS| MIN. CONCRETE CONFORMING TO ACI | oy crere

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F__ [ #10X 3 PPH WOOD SCREW STEEL
G | #10 X 1-3/4"PPH WOOD SCREW STEEL
H | #10X 2-1/2" PPH WOOD SCREW STEEL
J | 1/4 X 2-1/4" TW CONCRETE SCREW STEEL
K |1/4"X3-1/4" TW CONCRETE SCREW STEEL
L | 1/4"X 3-3/4 TTW CONCRETE SCREW STEEL
T [FRAME* PVC
2 | SUDER PULL STILE* PVC
3 |LOCKSTILE* PVC
4 | KEEPER STILE® PVC
5 | GLAIING BEAD* PVC
6 | SLDER COMMON RAIL* PVC
7 | BALL BEARING ROLLER -

8 | WEATHERSIRIP [0.230') .

9| WEATHERSTRIP (0.380") -

11| SILLTRACK ALUM
12| HEAD TRACK ALUM
14| SLIDE RAIL REINFORCEMENT ALUM
15 | REINFORCEMENT ALUM
16 | REINFORCEMENT ALUM
17| SLIDER SASH RETAINING CLIP ALUM
18 | #8 X 1" PFH SMS STEEL
19 | FLANKER STOP NYLON
22 | #8X 5/8" [#6 head) PFH SMS STEEL

* THE APPROVED WHITE RIGID PVYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY

EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS",

116" X 1/2"
GLAZING TAPE
BY LAMATEK
1/2" GLASS
BITE ——— 1" THICK GLASS

1/8" ANNEALED

N ,

|

AIR SPACE

1/8" ANNEALED
INTERCEPT SPACER

7N

(:) GLAZING DETAIL

116 X1 /2

GLAZING TAPE

BY LAMATEK
172" GLASS

BITE 1" THICK GLASS

1/8" TEMPERED

AIR SPACE

1/8" TEMPERED
INTERCEPT SPACER

7N

|

C) GLAZING DETAIL

B813.659.91897

Florida Board of Professional Engineers
Certificate Of Authorization No. 9813

L5 ez

P.C. Box 230 Valrico FL. 33585
Lyndon F. Schmidt, P.E. No. 43409

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone Mo

29
tn =
LJ HEW
= = Q
(Y s =
0 =

[Ta) =

L=
3 2l onN
o a3

g o
- m
b 4 =3
[
3 o
S &
a x
(4]
L|é
N
o
B
~ |
o
NS
Nz
s Izl
ol e
La
i
a
0.
D
ik
=
LS
=
~lo
prd
bate: 12/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16092.1

SHEET & oF 6

© 2012 R.W. BUILDING CONSLLTANTS INC.



